MRS yh—)—4 WIIYFaAEvoar— E I A XN E A
A ot Bl 5 * — B
INGWGE KSL |* %X |©d %d BRI
8518 (201 748) BB H o h—1) =5 14 B % 3 ff
BT | 20174616 E) |nskmsm] 17650023 |ANM]  00% | &WA | EF A IFAL D AGDT I T
EX il wR [251°C] EE | 59% [ A W | EvFRRE[ATE |EvFzm) 1%
RyFasLat—|H ik T3 EH (FAE MK LA ER T ARBA| 1D FIH0 nEn
BHUT oY — [+ K—B BIE (KN HR Ex ET- Y enes| ik PR 573\
(th—=LF—L) 1 e 0 (7 oz—F—L)
a1 xEDLIEFC| 2 0 RRE1F4TYFFC
KICK OFF 1 # 0
T a—h ) & | 1| | & ® Ya—p ZR
No. oumrln} i | mE (MR axL cop| B | T | I | 5 foup. BEF 4 AU W3 | %¥ |oursm|No.
FRE ¥ 3} 32|GK|GK]| 21 HE R
2 2 WA % 24|MF|DF| 15 EPG Ak
LI KR 17|DF[DF| 4 AHHE #
&k IE= 8B 4 [DF|[DF] 18 BB K 1 L
SH —1 7 |DF|DF| 3 =t %
1 1 IR AKX o] 8 [MF[MF| 6 |0 LS 21 .2
885 1 e R %3 14 |MF|MF| 24 Rtk K8
1 11| 7Rk R 9 [DF[MF] 11 Y 515
1 1 LTS 11 [FW|MF]| 25 W KW
675 = BE 15[ FW[FW] 10 JIIE &4 75%%
824y| 2 2 _lal1] S#FEK 26 [FW[Fw| 7 )1l AED 20 1 ] 835
7 (& 22| GK| GK| 51 R T
HH FX 16 [DF[MF| 19 B HAHR
A AR 34|DF|DF| 2 HEX 11
14 BEXCFS 13 |MF[MF| 14 HH BF
TE##% 31 [MF[MF| 23 =H B
15 1 1 EEXETL 20 | FW|MF]| 26 ER AR B 1 1 10
26 1 1 Ra)BE _ [25[FWiFW] 9 | KA B—0 G A 7
FER ) E B E B e 05
M | = No RFR BH BlE %Fh faH % BER | =3 No. BFE £ 3=
87| % 9| ik sk |[579v1] # B A # % 697 | E[4] XA E |RAK
* ¥ > + * 755 | El25] M KE |54
10 3 [13[>a—+6] 3 3
4 6 |10] 6K [10] 3 7
1 ozl oK 4] 1 3
10 5 |15|EEFK|16] 6 10
1 0 |1 [msgrk]| 3] 1 2
1 0 [1]amm)]2] 1 1
0 0 PK 0 0 A
F—L[No.| #HmES |No| 7VAM% [No| 7V AR fFREa
26| SHZEA |7155% - hf214 1 H17 1 hR1267%9F7 - & &S
I R REEESS FRT 11 — 9 14977 b— B RS
25 o R
/ L §
{/ - BETACE L=
\ / Za
SOk AS
\ /)
z
48:29(3:29) | MiEEm 13356 |
A X: S:a—b H:AT1Y

TR, ﬁﬁ'l)\ RIATE BBIEFE. il,! ‘Dl:!l.‘té' PRAE(F), FRAE(fB), ” 'ﬁﬂﬁ




